The two Times table

One times two is two

Two times two is four

Three times ftwo is six

Four times two is eight

Five fimes two is ten

Six times two is twelve

Seven times two is fourteen
Eight times two is sixteen
Nine times two is eighteen

Ten times two is twenty
Eleven times two is twenty-two
Twelve times two is twenty-four

1 X 2 = 2
2 X 2 = 4
3 X 2 = 6
4 X 2 = 8
5 X 2 = 10
6 X 2 = 12
7 X 2 = 14
8 X 2 = 16
9 X 2 = 18
10 «x 2 = 20
11  x 2 = 22
12 x 2 = 24

What
about zero
times two?

Zero times two is zero.

Zero times
two is

ZERO.

O0x2=0

Read the two times table. Try saying it without reading it. Keep saying it

over and over again.
Fill in the missing numbers:

3x2= 8x2:= 7x2-= 1x2-=
6x2-= 4x2-= 11x2= Ox2=
10x2-= 2x2= Bbx2-= 4x 2 =
\/
T've goft it.
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Answers

3x2=6 8x2=16 7x2=14 1x2=2
6x2=12 4x2=8 11 x 2 =22 O0x2=0
10x2=20 2x2=4 bx2=10 4x 2 =8
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